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MAXIMUM MARKS: 40
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NOTE: Write same qﬂesﬁon number \Lb)}g}fg_/.éfrﬁ{: b;:/ﬂ?uf/‘dlrdw(,éfdli -

and n}s\"-.‘Pah number on answer book, as given in the question paper.

WA NN
SECTION-I JiLo

2. Attempt any four parts. 8=2x4 -gfg/:.yf.eﬁfm/l;c_&f _2/-,‘Ulr
(i) What is meant by syntax of programming language? E'c_;l/bf; ool L{ ;@.fal/f/ (i)
(ii) How many types of errors can be in programming? Write names. < fL U L;Cr,'ulu{fu/l.ﬁlf/ (ii)
(i) Write three characteristics of BASIC. _;[/ut_ﬁ;?r“’ﬂlcfigj’u@ (iii)
(iv) Define variables in BASIC. SIBASE L (i)
(v)  Write the procedure of operation in GW-BASIC. _L{fu'_.f.JK.g)b’f-'{ﬂu_'_&r_‘:id (v)
(vi)  Describe about indirect mode. L ALk i (Vi)
3. Attempt any four parts. B=2x4 g rfer LIz 8 340w
() Whatis meant by DIM-Statement? ""r_,J'/gy_(/D{M Statement (i)
(i) Differentiate between 1-D Array and 2-D Array. PR ~Q ‘ f [ fé ;,“ . Wﬁjﬁ 2-Duslesi 1-D (i)
(i)  Describe about printing two dimensiopa| Arr@ / ' {"‘.,. \\,:\,\ i \“'.._i\ﬁ\\:' "*' - iurfdl,.u)ﬁ_f_fu_ﬂuﬂ; (iii)
(iv)  Write the syntax of usg\défmed\f’unc}tplﬁ’ K \ u ‘\ o - -u:’ P b/cfﬁj'/wj,;,- (iv)
(v)  Describe the purp\cjse bf INT Kuhctnbn - = ffubwb’ 26 INT () (v)
(vi) %ﬁj}ﬁﬂé{e_é}\»}ken data file and program file. o _'f.,;)kJ/Lf.'JG(VC{»IJG L (vi)
4. Attempt any four parts. 8=2x4 _éj.;uzéfzugc,éf -4/-.‘Uir
() Define GoTo statement. S GoTo (i)
(i)  Define Text mode. _ SIS i)
(i)  Whatis Status BAR? e i
(iv)  How can you save a document in MS-Word? ?u_?z_): d_’:;f_ BUis MS  (iv)
(v} What s clipboard? el ()
{(vi)  How can you print a document in MS-Word? ?@Z_f&{é’wzfﬁi_gbﬁm MS  (vi)
SECTION-Il (s
NOTE: Attempt any two questions. 16 =8 x 2 Erferl et 3 o)

5. Write down the strategy for developing algorithm 4+4 -ﬂ(/ﬂlKng.ﬁMyJJ;b/ﬁ by

\l\

and write an algorithm for baking a cake a¥ home i

6. Define Nested Loop ~2+3 +,3 -6
\ \ \
Write purpose and syntax \of qu-Next'ahd“ h|Ie Wend Loop.
\J | 2+3%3 et o Lo CIRCLE e iUl S Ui CIRCLE .7
N ;

AR ‘r“

7. Hat is CIRCLE statement? Explain the syntax of CIRCLE statement with example.
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PgPER CODE 2022 (A)
NUMBER: 7831

SSC PART-Il (10th CLASS)

COMPUTER SCIENCE (OLD COURSE) GROUP-l 2%

TIME ALLOWED: 15 Minutes

MAXIMUM MARKS: 10 7\ || S
S b\ L:Cxlﬁkfahbégrhm;.w (Jul:afé.x:l/[.drr/-{gé 601z < f&L&2 D ol C B A bzl vy 2d
/;{.‘Jfﬁ,ﬂj fLIgL:u‘.f?/éfu.‘.'u;ﬂfd_L.g 36;/!: _I'mﬂw...«l,?uﬂwwnfa& Sk LS simlie gl s
Note: you have four choices for each objective type question as A, B, C and D. The choice _q‘/gd’f,_-mr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 1 A

(1) How many possible solutions are there for a problem? ?u,'?dofz‘féytfr M
(A) One ..{F (B) Two s (C) Three 94 (D) Multiple L'jr

(2) GW-BASIC can operate in: S Oy P T )

(A) One mode (£3»fl  (B) Two modes (£Jivw (C) Three modes St (D) Several mgcies u"z:r'ur

(3) Which of the following statement temporarily stops e ‘2;1{ /y%@;@f%g{&if A.J’[&Ufc. eyl (3)

the execution of program?

(A) BREAK ““ C /\ (q) E \ N (. . PAUSE (D) STOP

(4) Which of mp\f@ J@r&]éan nbrﬁe Lxsed to S i gie Sutd LE e by (@)

exit fro én error handling routine?

(A) RESUME (B) RESUME NEXT (C) END (D) STOP

(5) Dimension statement uses the keword: —E Err i1 L,J.;f.[_.:f'z’ 5” (5)
(A) DMS (B) DS (C) DIM (D) DM

(6) The output of a function INT(-5.7) is: _‘a.,,li.‘E’ INT(-5.7) u:a (8)
(A) -5 (B) -4 (Cy -6 (D) 5

(7) TAN(x) = - zbs TAN(x) (7)
(A) SIN(x) /COT(x) (B) COT(x) (C)COS(x)/ SIN(x) (D) SIN(X) / COS(x)

(8) Which function changes the way of displaying output in BASIC? ‘< t'nyf&);.c..:_hé Uf-li'u'al«'ulf (8)

(A) SCREEN (B) PRINT (©) LEFTS 1

\"t'ﬁufé*f Edit (,ﬁ?"l/u;c—u:JJ;uM (9)

(9) Which one option is not in Edit menu? -“/-1‘

(A) Undo siui nff | (C) Find ru (D) Font =9

(10) Which key bo]ard Jshpp Opt-\.ls_,ubedﬁ‘or it prewew'? e JpSUs I il Lisdpey  (10)
R -

ANG}K |+H (B) Ctrl+F12 (C) Alt+P (D) Ctri+F2

38(0)(Obj)( W)-2022(A)- 38  (MULTAN)



PAPER CODE 2022 (A)
SSC PART-ll (10th CLASS)

NUMBER: 7833

y v L{ ’WHW&;—«J?MH&.U: Us/bé:{,.:d vE g Q8312 < tdas D sl C B A aMRMp Ll -2
{Q{W J@bk:;ﬁ/’éfw ...ur‘d’é—):ug J{O!/') -fmr",wulfuﬁufu;fgfé_ﬁ; oy L-/JU}J'}IJ&J&J &

Note: you have four choices for each objective type question as A, B, C and D. The choice _J_J:.J’J}ulﬂr

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
Q.No.1 A Ay

(1) Which of the following can not be used to el il ol L e fr Bl (1)

exit from an error handling routine?

(A) RESUME (B) RESUME NEXT  (C) END (D) STOP

(2) Dimension statement uses the keword: —e b 5;;&.;‘.[.4—"’5'&’ (2)

T\

— N\

(A) DMS (B) DS (C) DIM. 1\ /C@ﬁm]\‘.d\ W

\ ‘vi.’.,\s\\’?\ NITCAL »
(3) The output of a function INT(-5.7) is (7| j‘ A\ \ A \ f -& /2§ INT(-5.7) J"G (3)
7 ‘ VAN 2 AN )
A \ W71\ \‘_,J\/v
A -5 Q\\\ \ (¢ \'“(éo\ EANE) ©) -6 () 5
l ‘ \—/_ )
(4) TAN(X)= . AR -e4lz TAN(X) (4)
3 “\\“\ (,\
Wﬁf)xlalmx /COTX) (B) COT(x) (€)COS(x)/ SIN(x) (D) SIN(X)/ COS(x)

(5) Which function changes the way of displaying output in BASIC? E‘;tfﬁi;@,)&iéu—i-&ﬁ’uﬁ.ﬁ;f s (5)

(A) SCREEN (B) PRINT (C) LEFT$ (D) ABS

{6) Which one option is not in Edit menu? Clae i U’Jr” Edit ATy mt s (8)
(A) Undo siui (B) Redo s3( (C) Find 6 (D) Font :#

(7) Which key board short cut is used for print preview? ‘-"LJigu(;)t"f'ld’;.f_‘a/tijwfé.ﬁgsd{u‘-:{ )
(A) Ctri+P (B) Ctri+F12 (C) Alt+P (D) Ctrl+F2

(8) How many possible solutions are there for a problem? ‘-'LE:IQU"ZﬁJ;"UJ (8)
(A) One i (B) Two » (C) Three ¢ (D) Multiple &~

(8) GW-BASIC can operate in: - «ﬁ-— ‘64«./'—;” i3 9

(A) One mode (< 5vfi 542 QY Several modes (£iv§
(10) Which of the fouowmg statement J.emporafrly mps B\ Quny"(_,::(,fvfflp(fl g ol el (10)
the execution of pro?r

WJ?R'%A“ _ (B) END (C) PAUSE (D) STOP

0)(Obj)( TI¥)-2022(A). 350 (MULTAN)



Fz\PER CODE 2022 (A)
SSC PART-ll (10th CLASS)

NUMBER: 7835 |
COMPUTER SCIENCE (OLD COURSE) GROUP-l_ 7k & .,,_]fﬂ,ﬂj_, Sty ) Ul
TIME ALLOWED: 15 Minutes OBJECTIVE d"/‘t.-c? a5 = =

O\ \ -~

MAXIMUM MARKS: 10_ -
/-G-Ui %{( l].{ .flpw llﬂ.:.,al?urwc.gﬂ Us/bé’:q-)d-lrﬁdlff{(ér@i -ufié.: D C:B:A u!‘:’wﬁlkédlff -
44{4‘&)’! -rt_lgk:d/(jf{_ﬂur'(fd.):‘g J:Jub -&J’jﬁl‘uwuﬁ(}fuﬂﬂfl_—& Jok k L.f,;fUulmL;c.J okd)
Note: you have four choices for each objective type question as A, B, C and D. The choice -{} dwfﬂ'umf
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
Q.No.1 A v

(1) TAN(X) = -~z TAN(X) (1)
(A) SIN(x) /COT(x (B) COT(x) (C)COS(x) / SIN(x) (D) SIN(X) / COS(x)
(2) Which function changes the way of displaying output in BASIC? ?+bf;j,’gf R )‘Lz;_..;_'.a;.uiiﬁ..@fﬁ e (2)

(A) SCREEN (B) PRINT (C) LEFT$ o (D)_ABﬁ‘

r‘ ’-‘ “.

"3 Eait wri Laufc.u'dww (3)

(3) Which one option is not in Edit menu?

*w"’j |

/(G)Fma 1 (D) Font &%

(A) Undo siui - N
(4) Which key board short Cul ‘isl sir»;ed er pt.lnt prevrevb ' ?‘L,JI?JJW'JJ&JGUE’(_A—L%JU{&{ (4)
\(A} ﬁwpl I\d ‘\ ' (B) Ctri+F12 (C) Alt+P (D) Ctri+F2
(5) How many possible solutions are there for a problem? ?@UQJZTLJHJK (5)
(A) One ] (B) Two » (C) Three & (D) Muttiple §
(6) GW-BASIC can operate in: e FlecinkiG (6)

(A) One mode (“i»fl  (B) Two modes 4jivss (C) Three modes Uit (D) Several modes di:‘:‘dﬁ
(7) Which of the following statement temporarily stops e 'u{JhﬁfJgf}f Id/r'l}j,;&:? Ui L (7)

the execution of program?

(A) BREAK (B) END (C) PAUSE (D) STOP
(8) Which of the following can not be used to ?Ccnuﬁ“JWlﬁ;iVu&;ﬂufg‘_éfc.ufuuﬁi}gl (8)

exit from an error handling routine?

(A) RESUME (B) RESUME NEXT _,_(Q),;E_N[gf"-.\\J";"‘ \ (Coystor

(9) Dimension statement uses the kewo_rﬁs,_‘ \ ‘3 _{_MJWI s )
o { (C) DIM (D) DM

" T:hepﬂmt{dﬂa\‘mmc’“"\'T('5-7) is: elzé INTE-5.7) P (10)
(A) -5 (B) -4 = =8 o
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PgPER CODE 2022 (A)

SSC PART-I (10th CLASS
NUMBER: 7837 ( )

COMPUTER SCIENCE (OLD COURSE) GROUP- __ — [ .

TIME ALLOWED: 15 Minutes 15 = o

MAXIMUM MARKS: 10_ | AN = Af
Ae-ct g{ A WJL‘Z_HU?JJJ:.‘): U Es L g6z - L4 D 51 C B A ...uu‘,bz:dlrf s
{24 ~=" 7 -fg_bL:gﬁ‘}/deujfL;d_LA; J':JJ./D -ﬁuﬂjﬂylfmﬁgﬂuxﬂf LSS | LS inlie Ll s
Note: you have four choices for each objective type question as A, B, C and D. The choice ..L[).:J’/;:..-.«Uir
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A

(1) Which one option is not in Edit menu? Sew A Edit STt (1)
(A) Undo siuf (B) Redo s (C) Find %6 (D) Font 27

(2) Which key board short cut is used for print preview? ‘-’,LL}%JJW'JJ¢J¢W&,—££”U{‘-‘}{ @
(A) Ctri+P (B) Ctri+F12 (C) Alt+P s /C:rlfﬁz_ \\

(2 Cptrzces o
(D) Muttiple (§

e Lekig @

(3) How many possible solutions are there for a problem? ("

A
(A)One i /(B)ng ‘\g\ Q

AN\ o=
(4) GW-BASIC can operatm VAL

(I\JQ!'IP m\lié\}b“ﬁ.u ~ (B) Two modes (i (C) Three modes Ji»e2 (D) Several modes ul’):‘r‘i.'fr
(5) Wthh of the following statement temporarily stops ‘-‘9.3?;4%@;@}?}? lp(rl)j/?:.-‘/"-‘:' e Ut (5)

the execution of program?

(A) BREAK (B) END (C) PAUSE (D) STOP
(6) Which of the following can not be used to ‘-'anufu(i“"fd%’Vvﬂz—ﬁdlf.f--’:ﬁc-ds’fumﬁ{{ ! (6)

exit from an error handling routine?

(A) RESUME (B) RESUME NEXT (C) END (D) STOP
(7) Dimension statement uses the keword: -t Ji 5ML;£_.J—£-'-"E' 6" (7)
(A) DMS (B) DS (C) DIM (D) DM

(8) The output of a function INT(~5.7) is: INT(-5.7) u‘C' ®)

A) -5
(9) TAN(x) = - TAN(X)  (9)

(A) SIN(x) /COT(x) (C)COS(X) / SIN(x) (D) SIN(KX)/ COS(x)

(10) Whlch f"fndlcﬂ bhéhées e way - displaying output in BASIC? S b/ E Al x suju TJHC_;UH{J W (10)

(A )SCREEN (B) PRINT (C) LEFT$ (D) ABS
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